H & 0l & AHS B Ml A

LIS
OIS =3
LN 29 =R
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Cel=X 361,167,574 331,646,259 29,521,315
= 266,639,643
== 29,792,706
Al 64,735,225
SX == 361,058,648 331,518,979 29,539,669
= 266,625,231
< 29,790,544
Al 64,642,873
LOoIAE 2 53,681,754 49,435,335 4,246,419
= 7,109,431
== 13,507,521
Al 33,004,802
selEXs S22 72,600 72,600 0
< 7,260
Al 65,340
301 EtE NS 72,600 72,600 0
= 7,260
Al 65,340
02 ARl 28H ) 72,600 72,600 0
ool X2
72,600,000& 72,600
= 7,260
Al 65,340
celEX2Ed 2,466,000 2,286,000 180,000
[ 171,000
Al 2,295,000
307 glztol & 2,466,000 2,286,000 180,000
= 171,000
Al 2,295,000
05 2IHRIE S 2,466,000 2,286,000 180,000
OR&AIAD0] 822,000,000 822,000
= 57,000
Al 765,000
(OF FSUNEAYN - 822,000,000 822,000
== 57,000
Al 765,000
ORHANLHE 822,000,000 822,000
= 57,000
Al 765,000
COISK2 SAXM LN 30,600 30,600 0
= 30,600
301 LEIE NS 30,600 30,600 0
= 30,600




A SISt
B LoI=T| o)
&l LolNE 29 EER=E)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
02 MBI EZAGS(HAUAS, XLTHEA) 30,600 30,600 0
OLoIsX2 SAX ML
50,0002 51+ 122 30,600
& 30,600
SOII=XNAIE KA 12,000 12,000 0
307 QI2H0l A 12,000 12,000
10 Al SEXAIEHE2ZHIEX 12,000 12,000
ORELI=XAE S EH]
3,000,000 *4JH 2 12,000
MASOH(=CIRAAIA) 2,900,000 2,200,000 700,000
= 2,610,000
& 203,000
Al 87,000
301 LetEEZ 2,900,000 2,200,000 700,000
= 2,610,000
= 203,000
Al 87,000
01 MBI BEA6Z2(2DEXTHA) 2,900,000 2,200,000 700,000
OJ|ZMEEE MASH(LRAAIA)
2,900,000,000& 2,900,000
= 2,610,000
= 203,000
Al 87,000
Y| 29 9,3% 30,255 A20,859
201 L2 | 9,3% 7,800 1,5%6
01 ArR2eltl 9,000 7,800 1,200
OF&EAl 2122012 XE AR~ &
S 150,000 x5 *123] 9,000
02 23244l 3% 0 3%
OFIIQI|2 22| B8 JFUHE AHE=
3%,000& 3%
Mot I=XIAE 29 750,000 750,000 0
& 75,000
Al 675,000
307 QI2Hol A 750,000 750,000 0
& 75,000
Al 675,000
10 AlRISXAEHE2EHIEX 750,000 750,000 0
OMIII=XIAE 23
250,000,000 *30H 2~ 750,000
= 75,000
Al 675,000
LOIQAALSAAL S22 S 210,873 210,873 0
& 21,088




A LIS
B LoI=T| o)
Selr oA 2 (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 189,785
301 22N = 167,040 167,040 0
=S 16,704
Al 150,336
02 ARSI SE AT S(FIANS, XLETHE) 167,040 167,040 0
COIQUAIE EAIK S422E
160,000 x87E «12& 167,040
< 16,704
Al 150,336
307 212t01™ 43,833 43,833 0
= 4,384
Al 39,449
10 MEISXAEHE2EHIE2X 43,833 43,833 0
OIZMBL2T NE S
43,833,000 43,833
== 4,384
Al 39,449
LoIEIIRY Mots 18,788,521 17,690,864 1,097,657
= 2,178,852
Al 16,609,669
301 LENZ 18,788,521 17,690,864 1,097,657
= 2,178,852
Al 16,609,669
02 AR 2HALFS(HAAS, XLHE) 18,788,521 17,690,864 1,097,657
OLFHIQY THItEN
18,788,521,000& 18,788,521
s 2,178,852
Al 16,609,669
LIRS AESH 20,533,538 19,534,282 999,25
= 10,266,769
Al 10,266,769
301 LtENZ 20,533,538 19,534,282 999,256
= 10,266,769
Al 10,266,769
02 MR 2HHLFS(HAAS, XLHE) 20,533,538 19,534,282 999,25
COIETIRY AILS0
20,533,538,000& 20,533,538
=S 10,266,769
Al 10,266,769
365 (24l Ss4E 249d| K& 190,000 190,000 0
& 57,000
Al 133,000
307 212t01d 190,000 190,000 0
== 57,000




A LIS
B LoI=T| o)
&l LolNE 29 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 133,000
10 Al SXAZEE 22X 190,000 190,000 0
O3b o=dl ==dH 238 XA
190,000,000 190,000
== 57,000
Al 133,000
LI |2 AMLEE & U= 3,130 3,526 A39%6
201 er23| 3,130 3,526 A39%6
03 Ar=EHI 3,130 3,130 0
oI NEY & 1S
3,130,000& 3,130
MOt QIXIE MBI AME] SALA ML IHS | 10,200 10,200 0
=S 10,200
301 EtE NS 10,200 10,200 0
= 10,200
02 ARSI 2E AT S(FIANS, XLETHE) 10,200 10,200 0
OMIL= X2 MHIAEEH SAIL HRMHA
u 50,0003 x17E~12& 10,200
& 10,200
LRSS SMEIAAE X 6,387,397 5,546,122 841,275
= 4,175,080
= 268,400
Al 1,943,917
307 gl2tol & 6,387,397 5,543,122 844,275
= 4,175,080
= 268,400
Al 1,943,917
1 AMEISXAEEES 6,387,397 5,543,122 844,275
Ol E=SAHIAAE X3
6,387,397,000& 6,387,397
= 4,175,080
= 268,400
Al 1,943,917
SHEQ SSHEHAHIA AFHXIH 247,588 235,296 12,292
= 115,791
Al 131,797
307 @I2to1 & 247,588 235,296 12,292
= 115,791
Al 131,797
11 AMRISXAEEES 247,588 235,2% 12,292
O=HE SSHEAAAHIA AFEXIA
247,588,000 247,588
= 115,791
Al 131,797




A LIS

B LoI=T| o)

&l LolNE 29 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SN SSHE JHUI01E0HRA 10,000 10,000 0

= 3,000
Al 7,000
307 el2to| & 10,000 10,000 0
= 3,000
Al 7,000
10 AlISAAZEE 22X 10,000 10,000 0
OSHESSdE JHUI0I80RA
10,000,000& 10,000
== 3,000
Al 7,000
QI Ael OIZBAIE SA S=228 15,600 15,000 600
= 1,560
Al 14,040
301 EtE N = 15,600 15,000 600
= 1,560
Al 14,040
02 AR 2HHLFS(HAAS, XNLHE) 15,600 15,000 600
OolgdXiel OIBAlE AL S22 24E
15,600,000& 15,600
== 1,560
Al 14,040
ol Xte| =02 SAFL MM 31,200 29,400 1,800
= 31,200
301 EetE2 NS 31,200 29,400 1,800
== 31,200
02 ARI2E XSG (FHAAHS, NSWE) 31,200 29,400 1,800
oIl =82t SALL XA
50,0002 x52H * 12& 31,200
= 31,200
LA SHuLES N2 180,000 240,000 260,000
307 elztol & 180,000 240,000 260,000
11 AMEISXAIEEXS 180,000 240,000 60,000
OFINYLHE SZHLES NH
30,0002 +6,000& 180,000
AR EME 2 327,391 291,017 36,374
307 21201 & 327,391 291,017 36,374
05 2IR”IRIE = 327,391 291,017 36,374
OFIQLLAXHME 2SS
327,391,000 327,391
COIEESSAMUIAAY SALAH MMM 11,400 10,800 600
= 11,400
301 EtE NS 11,400 10,800 600
[ 11,400




A LIS
B LoI=T| o)
&l LolNE 29 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 11,400 10,800 600
OLQYBEZMEIA SAX HLIHAY
50,0002 x19E *12& 11,400
= 11,400
SSUTAYNHIA AFY SALL MRIHEH] 1,800 1,500 300
= 1,800
301 LEtE NS 1,800 1,500 300
== 1,800
02 ARSI 2 XSG (FHAAHS, NSWE) 1,800 1,500 300
OSTOOAMHIA BAK ML W]
50,0008 x3& * 122 1,800
=S 1,800
COIXEAMNY 29 3,000 3,000
201 er23 | 3,000 3,000
01 Al 22| 3,000 3,000
ColUTIR] U ABSZALIA AR KR
3,000,000 3,000
OIS Hie 228 X2 60,000 0 60,000
< 18,000
Al 42,000
307 elztol & 60,000 0 60,000
& 18,000
Al 42,000
10 Al2SIIAIEEE 22X 60,000 0 60,000
LoISX2 Uit 2208 K&
20,000,000 *30H 2 60,000
= 18,000
Al 42,000
Hzdl 23td=E 0ISH 28 10,000 0 10,000
== 3,000
Al 7,000
307 212+01& 10,000 0 10,000
< 3,000
Al 7,000
10 Al2ISXIAIEEE 22X 10,000 0 10,000
Ool2dl 23S 0I18H 23
10,000,000 *10H 2~ 10,000
= 3,000
Al 7,000
coloEsXAI4 CCTV EX1 X3 417,120 0 417,120
= 208,560
= 145,992
Al 62,568
307 el2to| & 417,120 0 417,120




2A: LelsX
B LoI=T| o)
&l LolNE 29 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 208,560
T 145,992
Al 62,568
11 AMSIESXAEEX 417,120 0 417,120
Lolo|g2=XIAIE v Xl X
417,120,000 417,120
= 208,560
T 145,992
Al 62,568
LOIEAH=XNAIE SAERL HRIMA | 2,400 0 2,400
= 2,400
301 LPENZ 2,400 0 2,400
T 2,400
02 MBI EZAG2(HUAS, XLTHEA) 2,400 0 2,400
OL2F=HERIALE SAHA MM AL]
2,400,000& 2,400
& 2,400
Lol ootgs XIA 277,855,065 256,298,880 21,556,185
= 248,764,057
& 13,026,115
Al 16,064,893
SHEHAIY 9,200 9,000 200
201 Ler23H| 7,550 9,000 21,450
01 At 22|l 4,550 6,000 A1,450
OLARE oM L M 3,350,000& 3,350
OS2H MR =Y
150,000 & *4 H x23| 1,200
03 A2 G| 3,000 3,000 0
OHM3El H2AN M= &EI S2H
3,000,000& 3,000
301 LetENZ 1,650 1,650
14 J|Et2 43 1,650 1,650
ONEUN M= £=HHX| 228 AKX AlA
= 1,650,000& 1,650
Lol Ngexa XA 54,400 54,400 0
307 212+01 ™ 54,400 54,400
02 QIZHBAAIE E R 54,400 54,400
Ookol Xg2x3g K& 54,400,000 54,400
JIZzHz NS(XAMMEE) 270,522,852 251,184,540 19,338,312
= 248,430,882
& 12,418,344
Al 9,673,576
301 LPENSZ 270,522,852 251,184,540 19,338,312
= 248,430,882




A LIS
B o= o)
SRl o optEs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 12,418,3%4
Al 9,673,576
01 A2 HSHS(RNEERTH) 210,522,852 251,184,540 19,338,312
OPJESer=) 270,522,852,000& 210,522,852
= 248,430,882
< 12,418,394
Al 9,673,576
=gzl SHYH| 1,208,750 1,125,000 83,750
= 362,625
Al 846,125
301 EtE N = 1,208,750 1,125,000 83,750
= 362,625
Al 846,125
02 A EEHS(FIANE, XLTHE) 1,208,750 1,125,000 83,750
OJIZMEST L0l S
1,208,750,000& 1,208,750
== 362,625
Al 846,125
d2g K& 1,736,970 1,846,206 109,236
= 32,000
Al 1,704,970
201 Ler23| 174,055 178,831 N4, 776
01 At2teltl 109,680 119,180 9,500
O3 ARHI(2Al) 68,280
—=0t 400,000+ 123 4,800
—&0l 750,000 * 122 9,000
- 990,000& 122 11,880
— &0 900,000 * 12 10,800
—S=0t= 900,000 x 12 10,800
—Xt= 100,000& «12& 1,200
- 100,000 = 12& 1,200
—oi&= 450,000 123 5,400
—arl 500,000 x 122 6,000
—S&0=S 100,000 ~12& 1,200
— 2 ALS N 200,000 x5 1,000
-3y 550,000 x5 2,750
= 450,000 53 2,250
Od=¢ 0ld OIAL HIE
2,000,000 +20H 2= 4,000
OZ2E Y & XA =8 21,300
—sh=== 1,500,000 #7942 10,500
—S)E8+sg 600,000 * 1304 A 7,800
—dd8terg 600,000 *50H A 3,000




FA S
Hu: LoI=N| Q8
Eelr ol optEs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZz2d 2FA & JI| At
8,000,000& 8,000
OARY EHFR S Q|
1,500,000& 1,500
OZ2g =32clAAE [
6.,600,000& 6.600
02 S5=g4l 64,375 59,651 4,724
OZ=2¢ Al | 2l 62,340
—&D|EH| LM A
64,0002 * 16074 A 10,240
—dZAE R
60,0002 *3757 A+ 12] 22,500
~H5E HAH 60, 00024 +B5H A 5,100
—goas Kid
18,0003 +3757H 2:%23] 13,500
—3dEY Sga2 A=A Ex
2,200,000 *50H 2= 11,000
OZ2d S U=NAE S3xtg S| 2,035
— NS XA 130,000 *1CH 130
—=28= 1,000,000 «1CH 1,000
—SXbl(=2l 8) 905,000 *1CH 905
307 212+01& 259,875 129,375 130,500
11 AMEISXAEEES 259,875 129,375 130,500
OZ2¢ g & Ja(548) 259,875
— =gt 65,0002 *3754 A * 102 243,750
— S4B 4,300 #3751 2+ 102 16,125
401 AIZHIX 20HH 331,000 188,000 143,000
== 32,000
Al 299,000
01 Al&HI 331,000 188,000 143,000
OZ=2¢ otd & HAAE £X
1,000,000 * 15004 2= 150,000
OZ=zd WAdsdEt
13,000,000 *97H 2= 117,000
OBz stZHEAE 64,000,000 64,000
=S 32,000
Al 32,000
402 2I2E X201 & 262,040 150,000 112,040
01 2I2EXH= AR 2 2 (KHHITH ) 262,040 150,000 112,040
OZzd 29 g€ & =25 7Y 200,000
—&0IX 2 92,550,000& 92,550
— AKX 2] 64,250,000 64,250
—2&X 2 43,200,000 43,200
Og8J| ASUIHXS E=Itd X
62,040,000 62,040




A LIS
B o= o)
eelr Lo ootEs N3 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
406 J1EHAH=0I A 710,000 1,200,000 A490,000
01 JIEFAH=01H 710,000 1,200,000 A\490,000
OANEZ2Y dXNESS(EA) 710,000
— Al 10,000,000 10,000
—&l 350,000,000 360,000
—s&0=(e) 350,000,000 350,000
Z2E & - el 2 234 XA 666,350 688,582 NP2,232
= 333,175
== 99,952
Al 233,223
307 212+01& 666,350 688,582 NP2,232
= 333,175
= 99,952
Al 233,223
11 AMISXAIEEX 666,350 688,582 NP2,232
OF2E o - iyl 2 22| A
666,350,000 666,350
= 333,175
= 99,952
Al 233,223
F2Y 245t MY 84,125 49,565 34,560
[ 3,600
Al 80,525
307 elztol & 84,125 49,565 34,560
= 3,600
Al 80,525
11 AMEISXAIEEE 84,125 49,565 34,560
OZ=¢ gdat At 84,125,000& 84,125
= 3,600
Al 80,525
CoIEH S XNE 1,118,755 977,956 140,799
== 102,060
Al 1,016,695
201 2= 6,400 8,200 1,800
01 At22t2lH] 6,400 8,200 21,800
OL=I =284 4=
100,000& x4 & =12 400
Olod (I SASA) B2t A Kl
X 150,000 40 6,000
203 =8| 16,400 16,400
03 A=A PR FZ| 16,400 16,400
Okel=X g2 16,400,000 x12] 16,400
307 212+01& 1,095,955 953,356 142,599




A LIS
B o= o)
eelr Lo ootEs N3 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 102,060
Al 993,8%
10 Al SXAEEHE2EHI2x 1,005,955 953,35 142,599
OLQl3X3] 2aHI(2H] & XIg& &8
Hl) 233,244
—XNalE 900,000 «3H = 12& 32,400
—=& 2,382,600 «3H 122 85,774
—& 2,382,600 «3E«12& 85,774
—40 282 15,000,000& 15,000
—EXNE=s 14,296,000& 14,296
OZ2g =328 22X X (2]
% 2SHl) 146,495
—QI2A4H| 2,382,600 x4E 12 114,365
—234l 200,0002 x4 x 123 9,600
—40 288 13,000,000 13,000
—EXNE=s 9,530,000& 9,530
OUet= Qs FAAIX 2l AIEF 22 X
3322l 17,000,000 *39H 2 51,000
Ot RHAIKE B2 ==X =
Al2eldl 3,300,000 *37H 2= 9,900
Otiet=0lsl 28Xzl d2stud 24 A
el 16,400,000& 16,400
OZ2Y MEEHZ X2 A
340,200,000 340,200
& 102,060
Al 238,140
OXESAXN =& &4l K&
50,0002 375 12& 225,000
OZ=2E g, 20101 MEE 73,716
—dZH|d 12,5003 x32604 =% 123 48,900
—KT 22,0002 0401 A 123 24,816
ColIMEOtE XA 109,600 102,400 7,200
307 el2to| & 109,600 88,000 21,600
02 2B YAIHE £ 88,000 88,000 0
OZ=29 & dA X3 54,000,000 54,000
OkLeolel & aiA XA 34,000,000& 34,000
11 AMRISXAEEES 21,600 0 21,600
O=lna ZA¢
120,000 x38 *5I A+ 122 21,600
ot A 29 11,035 5,640 5,39%
201 Ler=23 | 11,035 5,640 5,39%
01 At2teltl 2,000 2,000 0
oxtg2d 425 § 7Y
2,000,000 2,000
02 s3=gHl 9,035 3,640 5,39




od
i’
oF
uJ

18 S 21388 5 5 5 881|8 S 218
S S C oo - - - AN S S|S
o — — — — — (e)) — | —
Al 4 B3 I |8|¢ 3 =
Klo
E
]
8188 S S8 o e o 288 S 218
Sla|S S S|ale N N N S|3|S S S|S
il ~ F|S | & & & (5|2 X &S
LH3r
Lilkd
RIS
818|818 888 K8 EIBIBE B33 3225388858888 8§ €8 §8|8
o | NN aWwow — SWWW W%7W%7W%M7W%%~m~m172 0 Q8 B[22
3
<
S
H =< H = H =<
o ol = ™ ol ] ® OB W o
S X 8 X% N 8 888 8 8 S
S 0 WS & S S35 38 g 9 S
Y =
o (€ 3 58 3 g 3 g8 8 § 8
o OF > — > i < — [V To) o2}
B S g g & ~ g T we &« ©
N A 1) ES) N~ Ul
a0 S Nma S =
= ) < o = wm W.T_
o+ <+ Kk -~ o~ = o =
= T = & 3 |3 o o S O
: 70 s |2 0 = weo .
= =) N R 8 U T
= o wE = | |Bw 1 » =W o 2 4
= —_ z O . a7 =
o R F I T Y o = p U o or © 50 = iy
o 20 0 o ST = I U o - o0 = 00 a
3 |20k D D & T 3 o E_:zo“_M o =z < oIMWE._ N RO i - M =
. |K|a|so|m T ® T & o) |Fim|or K ] R K 8|m R0 AT W R F R |RR
= |% |z || B ooy R <k =< ol g HH B op ) oo golob|m W T M S 8 oy W (S|
R ||z |z|or o0 = o ® & H |5z o |3 A o] ol W s |oF © M R w0 <l o0 D AW
RO Ixizlan|< H & H | N S N e = o) =< A mlst|= < 1T I (T -1l
= |“lT|glz © 8 °© Wisle O (W S = O sz © 8 O gl
ol [N ol | & oJ ® o | N ™
O 4 H = A _




A LIS
B o= o)
SRl o optEs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OANIEZEZ2Y T2 2| 43,000
—=24oItEZ 14,000,000 14,000
—=2colHZ T2 ) 20,000,000 20,000
—aUHAOIEEEZZ A 9,000,000& 9,000
405 AHAHE S 60,000 60,000
01 IR =S F=H 60,000 60,000
OADIEZEZY ICTHAEHS A =8
60,000,000& 60,000
d=g i 1,980,000 1,980,000
405 KHoHFSHI 1,980,000 1,980,000
01 ML ESFSHI 1,980,000 1,980,000
OXASHNIBZE g
570,000,000 570,000
Os|YHZY Dbl 350,000,000 350,000
OZHIZY i 330,000,000 330,000
O&ZHN(E)BZ2E bl
365,000,000 365,000
O&ZHNI(0)B2Y tHl
365,000,000 365,000
Lol gitel &5 24,219,439 22,083,972 2,135,467
= 10,751,743
s 2,770,378
Al 10,697,318
CoIFHEX L 2E X 7,200 7,200 0
307 212+01& 7,200 7,200
10 Al2ISTIAIEEE 22X 7,200 7,200
OLQHAXAHHE 2SS
200,000 34 A+ 128 7,200
SEO\J%XPal 2 AEES T B (LR HESXH 20,321,577 20,438,351 A116,774
= 10,160,789
& 1,524,118
Al 8,636,670
307 glztol & 20,321,577 20,438,351 A116,774
= 10,160,789
< 1,524,118
Al 8,636,670
11 AMEISXAEEES 20,321,577 20,438,351 A116,774
Okolgdiiel & Atzlgs X
20,321,577,000& 20,321,577
= 10,160,789
== 1,524,118
Al 8,636,670
AlLIGIZ2E=29g 529,000 476,000 53,000




A LIS
B o= Q)
ol =0 el EE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 71,400
Al 457,600
307 lztol & 514,000 476,000 38,000
= 71,400
Al 442,600
10 Al SXAAEEHE2EHI2x 514,000 476,000 38,000
OR&HAILINZE 2 514,000,000& 514,000
= 71,400
Al 442,600
406 JIEFAHZ01E 15,000 15,000
01 JIEFRH=01H 15,000 15,000
ORTAILIOISE SXES=
15,000,002 15,000
ColaNiel U ASIEE XY SOH(SEI2ESOIHOl 1,181,907 1,061,011 130,89%
211)
= 590,954
< 88,643
Al 502,310
307 elztol & 1,181,907 1,061,011 130,89%
= 590,954
== 88,643
Al 502,310
10 Al2ISTIAEEE 22X 1,181,907 1,061,011 130,89%
O%8)|2 MEtolz] 01|
1,181,907,000& 1,181,907
= 590,954
s 88,643
Al 502,310
eI 2 2UHBHIXIH 15,000 18,000 23,000
= 4,500
Al 10,500
307 elztol & 15,000 18,000 23,000
= 4,500
Al 10,500
10 Al SXAAEEHE 22X 15,000 18,000 A3,000
O(F)Xg0e LUK
3,000,000 3,000
=S 900
Al 2,100
OFHAILIGZE FUHBBIXA
3,000,000& 3,000
= 900
Al 2,100




2A:

E M

ol =0 el EE EER=E)
SA - ZE - B2(30) - HRAS of v G o HIDE2
OSFAIRDIOI=X 2 LHBYIXI
2,000,000& 2,000
= 600
Al 1,400
OFHAAI=ISX2 SUHEBIXIE
2,000,000& 2,000
S 600
Al 1,400
OFRdEAIEeI=sX2 FHBHIXEA
2,000,000& 2,000
= 600
Al 1,400
ORdzFNAIHgSIe FUHEHIX
el 3,000,000& 3,000
S 900
Al 2,100
GSAILIOI S& #2old X3 58,827 26,970 31,857
= 29,413
Al 29,414
307 el2tol & 58,827 26,970 31,857
= 29,413
Al 29,414
11 MEISXASE 58,827 26,970 31,857
OAlLIESE dgXE X3
28,827,000 28,827
== 14,413
Al 14,414
OAlLIB2E &7 KA (2EH)
30,000,000& 30,000
= 15,000
Al 15,000
colgiiel & AtelEsS KM 2SN 1,320 1,440 A120
201 fer= 3| 600 0 600
01 At 2|l 600 0 600
OoLolgXtel g 728 zi2F S20
Ald| 50,0003 x1&* 122 600
202 04l 720 1,440 AT20
01 SLHoIH 720 1,440 ANT20
O=ogte] &g SF& S2H0Y|
60,0002 x 1 * 12 720
AMEE el =SAIE i 30,000 0 30,000
=S 15,000
Al 15,000
307 @I2t01 & 30,000 0 30,000
== 15,000




A LIS
B o= Q)
ol =0 el EE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 15,000
11 AMEISXAEEXS 30,000 0 30,000
OAEE AlEY =2 AIE e
30,000,000& 30,000
== 15,000
Al 15,000
colgiiel & AtelEs Dl = 1,959,300 0 1,959,300
= 979,650
Al 979,650
307 elzto| & 1,959,300 0 1,959,300
= 979,650
Al 979,650
1 AMISXAIEEXS 1,959,300 0 1,959,300
OLolunizl U MBIEE X
1,959,300,0002 1,959,300
== 979,650
Al 979,650
COIUNIE] U ALBIEE D15 SOI(S3)IRE S0l 115,308 0 115,308
2i1)
= 57,654
Al 57,654
307 el2tol & 115,308 0 115,308
= 57,654
Al 57,654
10 AlISXAEEE 22X 115,308 0 115,308
Ox8)|2 B2l o]
115,308,000 115,308
== 57,654
Al 57,654
HAS LoES 4,018,288 3,509,728 508,560
= 486,530
Al 3,531,758
MeE8Z =& = o™ X 35,000 36,556 A1,55%
= 17,500
Al 17,500
201 er=23y| 500 556 56
=S 250
Al 250
03 A= 500 556 A5B
ONgES =8 Lo HJIF
500,000 500
< 250
Al 250
301 EtE N = 34,500 36,000 21,500




A LIS
B Lol=| o)
S9l: HAS Lolws o mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 17,250
Al 17,250
02 A2l 28H W) 34,500 36,000 1,500
ongss !
34,500,000& 34,500
= 17,250
Al 17,250
MNAS =t A 327,600 223,020 104,580
== 98,280
Al 229,320
301 2= 327,600 223,020 104,580
< 98,280
Al 229,320
02 MBI 2EH . KIZTH) 327,600 223,020 104,580
ONAS L01)
327,600,000 327,600
= 98,280
Al 229,320
ColMEHE 23X 144,638 119,320 25,318
== 43,392
Al 101,246
307 212+01™ 144,638 119,320 25,318
[ 43,392
Al 101,246
10 At2l =X 144,638 119,320 25,318
Ol Q1A A o124H| XIe
144,638,000 144,638
= 43,392
Al 101,246
FdEAEREa4X 1,350,666 1,425,566 AT74,900
s 127,882
Al 1,222,784
307 @I2t01 & 1,350,666 1,425,566 AT74,900
[ 127,882
Al 1,222,784
11 A2l S XIAF 1,350,666 1,425,566 AT74,900
OuzAg
1,339,866,000& 1,339,866
= 127,882
Al 1,211,984
ORMSSEMFA 2 B2AE 20| 10,800
&= 300,000& * 122 3,600
— ot R3 200,000 * 122 2,400
—SAtAR S 400,00024* 128 4,800
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B Lol=| o)

Rl MAS 2SS (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SR AEF AR Q2| 536,784 425,316 111,468

= 44,340
Al 492,444
307 el2to| & 536,784 425,316 111,468
= 44,340
Al 492,444
1 AMISXAIEEXS 536,784 425,316 111,468
OZRAL FAR Q12|
536,784,000 536,784
== 44,340
Al 492,444
MASTHIHC CIAIAHHE 1,405,200 1,063,150 362,050
= 140,520
Al 1,264,680
307 elztol & 1,405,200 1,063,180 362,050
= 140,520
Al 1,264,680
1 AMISXAIEEXS 1,405,200 1,063,150 362,050
OMAS THIH=Ql AAF HHE X1
4,000 1, 171Z =25 128 1,405,200
== 140,520
Al 1,264,680
FERAGI A 12 218,400 212,400 6,000
= 14,616
Al 203,784
307 elztol & 218,400 212,400 6,000
= 14,616
Al 203,784
1 AMEISXAIEEXS 218,400 212,400 6,000
OFZAY HYAF 2124H]
218,400,000 218,400
== 14,616
Al 203,784
elMoIZ2A X1 Jlgt =4 193,521 187,804 5,717
CIHOIZAXIRME 2 19,260 18,960 300
201 Ler23 | 15,000 15,000
01 At2teltl 1,920 1,920
Odit=3=H| 40,0002 x4 * 123 1,920
02 S3=4gl 13,080 13,080 0
O3E=UE MEZ 30,0003 * 12 360
OeleHA AlE= 60,0002 * 12 720
03323 1,000,000& «12& 12,000
202 04l 960 960 0
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A LIS
B Lol=T| Q)
el dAERIoEY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEAAE 29 1,087,321 0 1,087,321
308 XXM SOIA 1,087,321 0 1,087,321
07 AX R FE= 1,087,321 0 1,087,321
Osty guilt 2028 29 2943
1,087,321,000& 1,087,321
HY2HHHI(=Q=Xm) 108,926 107,280 1,646
= 14,412
=S 2,162
Al 92,352
el 2E| 40,807 39,701 1,106
= 14,412
= 2,162
Al 24,233
colgiiel elsE2d| 40,807 39,701 1,106
= 14,412
= 2,162
Al 24,233
101 @124H| 34,346 36,071 A1,725
= 13,407
< 2,01
Al 18,928
03 SR (RINHA) 222+ 34,346 36,071 N1,725
O=olgtel &g 24 2124| 34,346
—Jl2= 2,167,300« 1H 123 26,008
= 12,060
& 1,809
Al 12,139
—SEFHI 2,167,300 x 1 *120% 2,601
= 1,347
= 202
Al 1,062
—IIEsd 40,0002 1 =123 480
—A222RE
18, 1202 x 1+ 12A1 2t 123 2,610
—gAgAt=E 140,000& x 1= 123 1,680
—SotE 4] 96,6402 18 %10 967
04 HSRESS 6.461 3,630 2,831
= 1,005
< 151
Al 5,305
4 R (RIHA)22N BEERES S 6,461 901 5,560
O] 8 SR8 ERsS0HEg=
230, 1803 * 122 2,763
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67,579
67,579
29,659
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33,120
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4,800
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ol vy

1,005

m

151
1,607

W

1,492
1,327
1,176
151
879
581
298
68,119
29,659
24,840
24,840

68,119

Al

11,040
13,800
4,819
4,819

568
4,251
33,660
33,660

540
4,800
4,800
4,800

33,120

- ESS

- SRA(3) - HIRAEY

S - B

,146,0002 +4. 5%
1,176,000& %12.81%

33,146,000 1.75%
33,146, 0002 +0.89%%

33,146,000 +3.545%

01 A2t

=3

R0

I

&0
01
z

I+

40,0003 23"+ 122
50,000& 23« 128

o
o]

=Y
OF

4303 *11024+ 123
2,530 * 14024+ 128
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180,000& 3%

120,000 +23F <122

JI204
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400,000& *12Z




